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I 1 mwn: procedure of Myn nron (continued):
a 7’51 done in back of neck, without separating head from body,
b snrm on wall of nam
¢ p777w would be squeezed down into the 1o
d  Division: nar only “gets” the blood; entire body goes to nn3

1

ii
iii

~Nn272.v. 1 - he holds bird’s head and body in hand and performs nxtn on the lower wall of nam

1 Proposal: perhaps it should go on higher wall —1”p from nnna nron (YW is down, nNRYN is up; YN NNY is up)
2 Rejection: remainder “squeezes” (passive voice) down to o’

27 method of npYn — holds wings with 2 fingers, legs with 2 fingers and stretchs neck over his thumb and cuts
~n272 wings/legs same, stretches neck over 2 fingers and cuts

1 Note: this is the hardest of the 3 challenging mmay (along with 2”012 nmop nyan and nx'np)

II  ’n mwn: procedure of 9yn N
a 7’51 he would go up wad and turn right on 229, go to SE and perform np*9n, separating head from body
b sxr7 would squeeze out blood onto narn, then push head against wall (squeezing out remaining blood)
¢ A7z interpreting v.3
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12237/, allowing for 1 bird to be donated (contra impression from v. 2 — that a pair must be brought)
17977 assigning a 103 for Npron (contra possible vp from nnna, which requires Nax but not 1n3)\
7501 done by hand (contra possibility that np*on is done with a knife —1"p from nnna, which doesn’t require jn2)
1 Dissent: y™1 —a 9t can’t approach nam (hence, 113 is obvious) — 1120 P >np*on done by 112’s body (hand)
PP popr perform np'on above (VIN) — (contra notion that it should go below — or either - just as n1opn is above
VP Popr. > must be done from back of neck (q1y)
1 contra: suggestion that it might be from front of neck (181¥), can’t be solved via w11 from §yn nron (v. 6)
(a) reason: there, we don’t separate body from head
(b) therefore: 1opm pYm adjoins them — just as nYopn is done to head and body separately
(i) similarly: np>on involves separation of head from body
(ii) source (that 770pi71s done with separation): v. 3 mentions nTn "X after n1opn (unlikely) - nvpn must
refer to head (which is, therefore, separated)
narpi v 5y 107 Axnir not the wall of the was or the Y20 — rather the upper wall
1 challenge: perhaps it means the lower wall —1"p from nnna,where n% is down, ‘tho nxon is up
2 answer: from v. 3 — can’t do "xn after n7vpn; rather N7YpPN is compared to n¥n —both on “top” of namn
procedure: as outlined in mwn,
1 however: if he did "xn as low as 1 nnR below 1170 — valid
2 dissent: »”aR7 nnn1 "1 — must be done atop nam
(a) point of disagreement (X271 25): whether a n>7Yn may be made on the 1210
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d  processing head: push head, squeezing out remaining blood, then roll in salt and throw it on the fire
e  processing body: pull out esophagus, innards and its feathers, throw into jw7h n’3, tear it open but not separate
i Note: if he did separate the body —7v3
ii ~ Then: roll it in salt and throw onto the fire
iii ~ap73xv. 4 —teaches that esophagus must be pulled out by hand — with feathers
1 pam 7200 Naxn - take out gullet with it
2 dissent (»7327n): cut open a “window” with knife and pull out nxmn
iv  Np272(about tearing open): yow must be done by hand, per story of pwnw and the lion (v. 7)
II "y mwn: those procedures which are/are not 23pn in yyn nnavp
a 9w nbw if he didn’t pull out innards, or didn’t roll in salt — anything after o7n »¥n — valid
b Both: if he separated (head from body) in nxrvn or didn’t in "% — %109; if he only did wRIn 0T - %109, only 91N 0T — W2
i Observation: our mwn cannot follow w”ar1 who reports a tradition that 91pn nrona n57an is done
it Point of disagreement:
1  A707 7 whether giyn nron1a »xn is 29yn
(a) 7 itis 203yn > since there is 07 (1277 is still “in process”) he’s doing a nkona %Y NwYn >0
(b) w7anT not 20yn > after nXM, process is done; what happens afterwards is of no consequence
2 Na27 whether n»nv (delay) before cutting the second 1m0 in 91yn % is 20¥n
(a) 77 not 20yn even though he delays, still valid = he’s performing nxvna n%y nwyn
(b) w7anT itis 20yn >when he delays, process is done - what happens afterwards is inconsequential
3 »iax. whether w1 a1 of the bird (being torn off) is 2oyn
(a) 7 itis not 20yn = tearing after 'R v isn’'t considered n»nw = cutting 1 11’0 afterwards is N9y NN
(b) w7anTitis 20yn - tearing after 'R 12’0 is considered a n»nw > cutting ’a 170 isn’t HYN NRONI NNY VYN
(i) (note: this follows dispute pnx» 72 HRINY /8P 7, if W"aRY/P”N NPIYNN is about 17NV or w2 21)
(c) Implication: all agree that n%'nn35, most of meat must be torn off
(i) Support: k1 describing npyn includes tearing off w1 217 after YR O (for Ny — 1V D)
4 jp7 1 heard about this discussion and dismissed it —
(a) Reason: he had a tradition back to w”ar~ that 57712 X (v. 5) means he need not - not that he mayn’t
(i) Challenge: if so, v. 8 — 1102’ XY means “he need not cover (the 111)”?
(if) Defense: in that case, v. 9 points to his liability = 103’ &% is a condition (if he doesn’t cover it)
1. But here: the nmin distinguished between n% w1 nron; 5727 K5 just means “he need not” contra n%y
iii  Comment on requirement to do 130 on 91377 OT.
1 ~12792 inferred from R0 N9y — N9 teaches that wRAn 07 is not vital; RN teaches that 10 0T is 20yn
(a) Explanation of inference (82237): most of the blood is in the body, not the head
IV 1 mwn: %100 nawnn (79 follows contours of nnna Ny, nron follows rules of nnna nron)
a  General rule: the two mmay for 1n M117p are np*von and N¥P/NRTN
i Therefore: if he did either (or both) in 9wn nron with intent nYY R5w — %109; in NIYN NHY — HPIY NHY 8 TV
b 5mw9 nawnp: follows same guidelines — if N9y or nkon had either mmay performed with intent to eat (edible)/ burn
(0PN 1377V 727) NIAY YIN—(N13) M9 ; with intent to eat/burn NMPNY YN — (N3 ®5Y) Y108 - as long as IMINNI PN 19p
i Meaning: 9n n% had to be brought without “mixed intent” (nmpny NINY PIN); 9wn nrvn without NNYH RYW
ii ~ Dissent: nT71 7 holds that if 1% pin 12 noPn/NYIR Nawnn came first — 519, even if followed by 1mpn’ yin
iii Combinations: Y2 m1a of each nawnn combine for %108 (only)
iv  And: Y2 po1a of eating, ¥4 of burning do not combine (as above)
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